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in[-]:= CF[&_List] :=CF /@ &;
CF[&. ] := Module[{vs, ps, c},
vs = Union@Cases[{S}, g , «];
Total[CoefficientRules[Expand[£], vs] /. (ps_-c_) = Factor[c] (Timeseevs™)] |;

In[«]:= cF[gl,j+)B]
Out[«]=

81,5°,8

In[«]:= T3 = T1 Tz_;
ggRules, ; ; :={ (» Generic g-Rules «)
8y ,i,5 P T; 8y,it,5 + (1 - T?) 8r,5°,85 8x ,3,8 > 8x,5,58
8y ,a,i T;S 8y,a,i*s 8y ,a ,j > 8yr,a,5* t (1 - T;s) 8y,a,i*
}s

rggRules. ; = { (» Reverse Generic g-Rules «x)

o3l
8y ,it,8 T;s Er,i,8* (1 - T;S) 8y,3:85 8r_ .35 > 8y,5,8>
8y ,a it T; €r,a,is 8y ,a ,j* > By,a,j t (1 - T;) 8y,a,i

}s
CF[{81,i*,p5 81,5*,85 B1,a,i*s 81,a,5°} /- rgERules, ; ; /. ggRules, ; ;]
CF[{g1,i,B: 81,9,85 81,a,i> 81,a,i} /. 88Rules, ; 5 /. r‘ggRU1esl,i,j]
Out[-]=
{81,1,65 81,5,85 81,0,i» 81,0,j1)

out[e]=

{81,i",8> 81,5,8» B1,0,i*s 81,a,5"}

in[-]:= CF [gl,i*,k 82,i*,k 83,k,i* *+ 81,5",k 82,5,k 83,k,j* — 81,1,k 82,1,k 83,k,i = 81,5,k 82,5,k 83,k,j / + ggRU1es1,i,j]
Out[«]=
(=1+T1) 81,5,k 82,1,k 83,k,i*

.
Ta
(-1+T2) 81,i*,k 82,5,k 83,k,i+ (=T1-Ta+2T1T2) 81,5,k 82,5,k 83,k,1i*
T T: T,

i1 CF 81,1,k 82,5,k 83,k,1" * 81,5,k 82,3,k 83,k,5* = 81,1,k 82,1,k B3,k,i - 81,5,k 82,3,k 83,k,5 /- rg8Rules, ; 5]
Out[e]=
(=1+T1) 81,5,k 82,i,k 83,k,i + (=1 +T2) 81,i,k 82,5,k 83,k,i + (2-T1-T2) 81,5,k 82,5,k 83,k,1

Matches ds py j P2, X3, + d3 p1,i P2,j X3, + (=d3 = ds) p1,j p2,j X3, as in DeterminingThePXXandXPPCoeffi-

cients.nb, with
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i1 CF[=81,k,1 82,k,1 83,1,k - B1,k,5 82,k,5 83,3,k *+ 81,k,i* 82,k,1" 83,i",k * 81,k,5* 82,k,5* 83,5*,k /- ERules, ; 4]

Out[«]=
(=2+T1+T3) 81,k,i" 82,k,i 83,5,k (~1+T2) 81,k,5 82,k,i* 83,5,k (=1+T1) 81,k,i" 82,k 83,5,k

T:1 T, T, T1

in[-]:= CF [_gl,k,i 82,k,1i 83,1,k — 81,k,j 82,k,j 83,5,k *+ 81,k,i* 82,k,i* 83,i*,k + 81,k,j* 82,k,j* 83,5,k / - f‘ggRU1es1,i,j]
out[e]=
(-T1 -T2 +2T1T2) 81,k,1 82,k,i 83,5,k + (1 -T2) 81,k,5 82,k,1 83,5,k + (1 -T1) 81,k,1 82,k,5 83,5,k

(C5+Ce T2) P3,j X1,j X2,

Matches ¢ p3 j X1 X2 = T
1

+Cg P3,j X1, X2,j @s in DeterminingThePXXandXPPCoefficients.nb
as follows:

C5+C5T2
In[]:= Simplify[—— /. {Cs—)—Tl—T2+2T1T2, CG—)l—Tl}]
Ty
Out[«]=

1-T,
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